PreCalculus ACC ’19-20 Name: SC'JL, Viitod Rﬁ
Chapter 10 Test - Form B

CALCULATOR ALLOWED Score

Round to 3 decimal places. Show all work.

Find the derivative of each of the following functions.
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2. Find domain and x — intercepts of y=—x+16—x2.
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3. Find the extreme points of y=—x+16—x*. Show the algebraic work to
support the critical values.
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4. Find domain and x — intercepts of y=(x’ _4x_5)€gx_
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5. Find the extreme points of y= (x2 —4x—5)e—;x. Show the algebraic work to

support the critical values.
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6.  Find domain, VAs, and x — intercepts of f(x)= 1n(36x-—x3).
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7. Find the extreme points of f(x)= ln(36x—x3). Show the algebraic work to

support the critical values.
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8.  Find the traits and sketch y=—x16—x?.
Domain: X & [: “A %_) Range: 3 Vs E‘B\ @] )
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9.  Find the traits and sketch of y= (x2 —4x— S)e%x.
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10.  Find the traits and sketch of f(x)= ln(36x— x3)
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